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1. RO FEHEES 2 ANT, IHEINLMA L R D EHLEBILTRD X, 2720, b oR0doicid I LR
Xy & (SH1940%, AfKk2730%, B3 w308, CH55)

(1) ED:BC=1:2. (2) ED:BC=3:4.
E D E D
A
A
B C B C
AB: AD AC:AD
AB: AE AE : AC
AC: AD AB: AD
AC: AE AB: AE
(3 BC=32cm,ED=2cm. (4) ED:%,BC:%,
E D E D
A
A
B C B C
AB: AE EA : AC
AD:AC AB: AE
AB:AD BA : DA
AE: AC AC:AD
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2. ROMIZFARLS 2 ANT, FEEINRO 2R HEELEEILTRD K. 72720, beo0ndoiid MRIH) LI
X & (SH1740%, A2 30%, B#3730%, C#H%545)

(1) ED:BC=2:3. (2) ED:BC=5:4.
E D E D
A
A
B C B C
AB: AD AC: AD
AB: AE AB: AD
AC: AD AB: AE
AC: AE EA : AC
(3) ED=3.6cm,BC=42cm. (4) Bc:%,ED:%O.
E D E D
A
A
AB: AD EA : AC
EA : AC CA: AD
AB: AE BA : AE
DA: AC DA : AB
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1. RO FEHEES 2 ANT, IHEINLMA L R D EHLEBILTRD X, 2720, b oR0doicid I LR
Xy & (SH1940%, AfKk2730%, B3 w308, CH55)

€)) ED:BC=1:2. (2) ED:BC=3:4.

AC:AD 4B

AB: AD 2:1 AE:AC = 3:4
AB: AE Nz AB:AD = 4:3
AC: AD Nz AB: AE 4B
AC:AE = 2:1

(3 BC=32cm,ED=2cm. 4) ED:%,BC:%.

2:32=920:32:20=5:8 5.3 _10.9 _ .
64 12 12 1039
AB: AE P N EA:AC = 10:9
AD: AC ZN: AB: AE AEH
AB: AD 8:5 BA:DA = 9:10
AE:AC = 5:8 AC: AD N
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2. ROMIZFARLS 2 ANT, FEEINRO 2R HEELEEILTRD K. 72720, beo0ndoiid MRIH) LI
X & (SH1740%, A2 30%, B#3730%, C#H%545)

(1) ED:BC=2:3. (2) ED:BC=5:4.

AB:AD = 3:2 AC:AD AH
AB: AE BH AB:AD = 4:5
AC:AD “<BH AB: AE “<EH
AC:AE = 3:2 EA:AC = 5:4
(3) ED =3.6cm , BC=4.2cm . (4) BC:%’ED:%O.

36:42=36:42=6:7 10 . 5 _ 40 . 15

AB:AD = 7:6 EA: AC 8:3
EA:AC = 6:7 CA: AD <BEH
AB: AE ABH BA : AE Nz
DA : AC ABH DA:AB = 8:3
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